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Algebra 2

End Behavior
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Sketch the graph of each function.  Approximate the relative minima and relative maxima to the
nearest tenth.

1)  f (x) = -x5 + 4x3 - 5x - 3
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C)  
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2)  f (x) = x4 - 3x3 - 3 + 5x
A)  
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C)  

x

y

-8 -6 -4 -2 2 4 6 8

-8

-6

-4

-2

2

4

6

8 Minima: None
Maxima: (1.2, 2.2)

D)  
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Sketch the general shape of each function.

3)  f (x) = x3 - 2x2 - 4 4)  f (x) = x4 - 4x3 + 3x2 + x + 1

5)  f (x) = -x4 + 4x2 - 4 6)  f (x) = -x3 + 3x2 + 3

7)  f (x) = -x3 + 3x2 - 5 8)  f (x) = x4 - 2x2 - 2x

Describe the end behavior of each function.

9)  f (x) = x3 - 3x2 10)  f (x) = -x2 - 8x - 14

11)  f (x) = -x4 + x3 + 3x2 - 3 12)  f (x) = x3 + 3x2 + 1

13)  f (x) = -x3 - 7x2 - 15x - 5 14)  f (x) = x5 - 2x3 + x + 4

15)  f (x) = -x4 - 4x3 - 4x2 - x - 4 16)  f (x) = x3 - 4x2 + 2


